

10. (a) $x^3 - 21x + 20 > 0$

ΕΡΩΤΗΜΑ

19

$$\begin{array}{cccc} 1 & 0 & -21 & 20 & (2) \\ \downarrow & 1 & 1 & -20 & \\ 1 & 1 & -20 & 0 & \end{array}$$

$$(x-1)(x^2+x-20) > 0$$

(1) (4) (-5)

| | | | |
|------------|----|---|---|
| x | -5 | 1 | 4 |
| x-1 | - | - | + |
| x^2+x-20 | + | - | + |
| P(x) | - | + | + |

$$x \in (-5, 1) \cup (4, \infty)$$

(b) $-x^3 + 3x + 2 < 0$

$$\begin{array}{cccc} -1 & 0 & 3 & 2 & (-1) \\ \downarrow & 1 & -1 & -2 & \\ -1 & 1 & 2 & 0 & \end{array}$$

$$(x+1)(-x^2+x+2) < 0$$

(-1) (-2) (1)

| | | | |
|------------|----|----|---|
| x | -2 | -1 | 1 |
| x+1 | - | - | + |
| $-x^2+x+2$ | - | + | - |
| P(x) | + | - | - |

$$x \in (-2, -1) \cup (1, \infty)$$

$$11. \text{ (a) } 3x^3 + 3x^2 + 10 > x^4 + 15x$$

$$-x^4 + 3x^3 + 3x^2 - 15x + 10 > 0$$

$$\begin{array}{cccccc} -1 & 3 & 3 & -15 & 10 & \textcircled{2} \\ \downarrow & -2 & 2 & 10 & -10 & \\ -1 & 1 & 5 & -5 & 0 & \end{array}$$

$$(x-2) (-x^3 + x^2 + 5x - 5) > 0$$

$$\begin{array}{cccc} -1 & 1 & 5 & -5 \textcircled{1} \\ \downarrow & -1 & 0 & 5 \\ -1 & 0 & 5 & 0 \end{array}$$

$$(x-2) (x-1) (-x^2 + 5) > 0$$

$$\textcircled{2} \quad \textcircled{1} \quad \textcircled{\pm\sqrt{5}}$$

| x | $-\sqrt{5}$ | 1 | 2 | $\sqrt{5}$ |
|----------|-------------|---|---|------------|
| $x-2$ | - | - | - | + |
| $x-1$ | - | - | + | + |
| $-x^2+5$ | - | + | + | - |
| $P(x)$ | - | + | - | - |

$$x \in (-\sqrt{5}, 1) \cup (2, \sqrt{5})$$

$$\textcircled{B} \quad 4x^4 - 8x^3 + 5x^2 - x \geq 0$$

$$x(4x^3 - 8x^2 + 5x - 1) \geq 0$$

$$\begin{array}{cccc} 4 & -8 & 5 & -1 & \textcircled{1} \\ \downarrow & & & & \\ 4 & -4 & 1 & 0 & \end{array}$$

$$x(x-1)(4x^2-4x+1) \geq 0$$

$$\textcircled{0} \quad \textcircled{1} \quad \left(\frac{1}{2}\right)$$

| x | 0 | $\frac{1}{2}$ | 1 |
|-------------|---|---------------|-------|
| x | - | 0+ | + / |
| x-1 | - | - | - 0+ |
| $4x^2-4x+1$ | + | + 0+ | + / |
| P(x) | + | - | - / + |

$$x \in (-\infty, 0] \cup [1, +\infty) \cup \left\{ \frac{1}{2} \right\}$$

Evotuca

20

1.

(B)

$$\frac{3x^2+1}{x-1} + \frac{4}{x-x^2} = \frac{x^2-3x+2}{x}$$

$$\frac{3x^2+1}{x-1} + \frac{4}{x(1-x)} = \frac{x^2-3x+2}{x}$$

• $x-1=0$

$x=1$

• $x(1-x)=0$

$x=0$

$x=1$

$x=0$

Ррору

$x \neq 0$

$x \neq 1$

$$\rightarrow \frac{3x^2+1}{x-1} - \frac{4}{x(x-1)} = \frac{x^2-3x+2}{x}$$

$$\cancel{x(x-1)} \frac{3x^2+1}{\cancel{x-1}} - \cancel{x(x-1)} \frac{4}{x(x-1)} = \cancel{x(x-1)} \frac{x^2-3x+2}{x}$$

$$x(3x^2+1) - 4 = (x-1)(x^2-3x+2)$$

$$3x^3 + x - 4 = x^3 - 3x^2 + 2x - x^2 + 3x - 2$$

$$2x^3 - 4x + 4x^2 - 2 = 0$$

$$x^3 + 2x^2 - 2x - 1 = 0$$

$$\begin{array}{r} 1 \quad 2 \quad -2 \quad -1 \quad \textcircled{2} \\ \downarrow \quad 1 \quad 3 \quad 1 \\ \underline{1} \quad 3 \quad 1 \quad 0 \end{array}$$

$$(x-1)(x^2+3x+1) = 0$$

$$x-1=0$$

$$\text{h} \quad x^2+3x+1=0$$

$$\Delta = 9 - 4 = 5$$

$$\textcircled{x=1}$$

$$x = \frac{-3 \pm \sqrt{5}}{2}$$

✓

2. (B) $2\omega^4 x - 5\omega^3 x + 5\omega x - 2 = 0$

$$\underline{\omega x = t}$$

$$2t^4 - 5t^3 + 5t - 2 = 0$$

$$2 \quad -5 \quad 0 \quad 5 \quad -2 \quad \textcircled{1}$$

$$\begin{array}{r} \downarrow \\ 2 \quad -3 \quad -3 \quad 2 \quad 0 \\ 2 \quad -3 \quad -3 \quad 2 \quad 0 \end{array}$$

$$(t-1)(2t^3 - 3t^2 - 3t + 2) = 0$$

$$t=1$$

or

$$2t^3 - 3t^2 - 3t + 2 = 0$$

$$\begin{array}{r} 2 \quad -3 \quad -3 \quad 2 \quad \textcircled{-1} \\ \downarrow \\ 2 \quad -5 \quad 2 \quad 0 \end{array}$$

$$(t+1)(2t^2 - 5t + 2) = 0$$

$$t = -1$$

$$\Delta = 25 - 16 = 9$$

$$t = \frac{5 \pm 3}{4}$$

$$t = 2 \quad t = \frac{1}{2}$$

$$t = 1 \quad u'$$

$$\sigma_{WX} = 1$$

$$\sigma_{WX} = \sigma_W \cdot 0$$

$$x = 2k\pi$$

$$t = -1 \quad u'$$

$$\sigma_{WX} = -1$$

$$\sigma_{WX} = \sigma_W \cdot \pi$$

$$x = 2k\pi \pm \pi$$

$$t = 2 \quad u' \quad t = \frac{1}{2}$$

$$\sigma_{WX} = 2$$

Answer

$$\sigma_{WX} = \frac{1}{2}$$

$$\sigma_{WX} = \sigma_W \cdot \frac{\pi}{3}$$

$$x = 2k\pi \pm \frac{\pi}{3}$$

$$\textcircled{5} \quad 2 \epsilon y^3 x + \frac{1}{\sigma w^2 x} = 0$$

$$\boxed{\sigma w^2 x = \frac{1}{1 + \epsilon y^2 x}}$$

$$2 \epsilon y^3 y + \frac{1}{\frac{1}{1 + \epsilon y^2 x}} = 0$$

$$2 \epsilon y^3 x + 1 + \epsilon y^2 x = 0$$

$$\underline{\epsilon y x = u}$$

$$2u^3 + u^2 + 1 = 0$$

$$\begin{array}{cccc} 2 & 1 & 0 & 1 & \textcircled{-1} \\ \downarrow & -2 & 1 & -1 & \\ 2 & -1 & 1 & 0 & \end{array}$$

$$(u+1)(2u^2 - u + 1) = 0$$

$\Delta < 0$

$$u+1 = 0$$

$$u = -1$$

$$\epsilon y x = -1$$

$$\epsilon y x = -\epsilon y \frac{1}{y}$$

$$\epsilon y x = \epsilon y - \frac{1}{y}$$

$$x = 1 - \frac{1}{y}$$

9.

(1)

$$\frac{7x^2 - x - 6}{9 - x^2} \leq 0$$

(3) (-3)

$$\Delta = 169$$

$$x = \frac{1 \pm 13}{14}$$

| x | -3 | $-\frac{6}{7}$ | 1 | 3 | |
|----------------|----|----------------|---|---|---|
| $9 - x^2$ | - | + | + | + | - |
| $7x^2 - x - 6$ | + | + | - | + | + |
| $P(x)$ | - | + | - | + | - |

$$x \in (-\infty, -3) \cup \left[-\frac{6}{7}, 1\right] \cup (3, +\infty)$$

10.

(1)

$$\frac{x^2 - 2}{x^2 - 1} < \frac{2}{3}$$

$$\frac{x^2 - 2}{x^2 - 1} - \frac{2}{3} < 0 \quad \Rightarrow \quad \frac{3(x^2 - 2) - 2(x^2 - 1)}{3(x^2 - 1)} < 0$$

$$\frac{x^2 - 4}{3(x^2 - 1)} < 0$$

| x | -2 | -1 | 1 | 2 |
|-----------|----|----|---|---|
| $x^2 - 4$ | + | - | - | + |
| $x^2 - 1$ | + | + | - | + |
| $P(x)$ | + | - | + | - |

$$x \in [-2, -1) \cup (1, 2]$$

6. ① $\frac{3x+2}{2x+1} \leq 0$

• $3x+2=0$

$3x=-2$

$x=-\frac{2}{3}$

• $2x+1=0$

$x=-\frac{1}{2}$

| | | |
|--------|----------------|----------------|
| x | $-\frac{2}{3}$ | $-\frac{1}{2}$ |
| $3x+2$ | - | + |
| $2x+1$ | - | + |
| $P(x)$ | + | - |

$x \in [-\frac{2}{3}, -\frac{1}{2})$

① $\frac{x}{3-x} \leq 0$

| | | |
|--------|---|---|
| x | 0 | 3 |
| x | - | + |
| $3-x$ | + | - |
| $P(x)$ | - | + |

$x \in (-\infty, 0] \cup (3, +\infty)$

7. (B) $\frac{x+2}{3x+2} \leq 1$

$$\frac{x+2}{3x+2} - 1 \leq 0$$

$$\frac{x+2}{3x+2} - \frac{3x+2}{3x+2} \leq 0$$

$$\frac{-2x}{3x+2} \leq 0$$

| | | | |
|------|----------------|---|---|
| x | $-\frac{2}{3}$ | 0 | |
| -2x | + | + | - |
| 3x+2 | - | + | + |
| P(x) | - | + | - |

$$x \in (-\infty, -\frac{2}{3}) \cup [0, +\infty)$$

(8) $\frac{x-1}{x} < \frac{3}{4}$

$$\frac{x-1}{x} - \frac{3}{4} < 0$$

$$\frac{4(x-1)}{4x} - \frac{3x}{4x} < 0$$

$$\Rightarrow \frac{4x - 4 - 3x}{4x} < 0$$

$$\frac{x-4}{4x} < 0$$

$$x \in (0, 4)$$

| | | |
|------|---|---|
| x | 0 | 4 |
| x-4 | - | + |
| 4x | - | + |
| P(x) | + | - |

$$17. \quad (a) \quad \frac{5x^3+1}{x^2-1} + \frac{3}{1-x} > 1$$

$$\frac{5x^3+1}{(x-1)(x+1)} - \frac{3}{x-1} - 1 > 0$$

$$\frac{5x^3+1}{(x-1)(x+1)} - \frac{3(x+1)}{(x-1)(x+1)} - \frac{(x-1)(x+1)}{(x-1)(x+1)} > 0$$

$$\frac{5x^3+1 - 3x-3 - (x^2-1)}{x^2-1} > 0$$

$$\frac{5x^3 - x^2 - 3x - 1}{x^2-1} > 0$$

$$5 \quad -1 \quad -3 \quad -1 \quad (7)$$

$$\begin{array}{r} \downarrow \\ 5 \quad 4 \quad 1 \\ \downarrow \\ 5 \quad 4 \quad 1 \quad 0 \end{array}$$

$$\frac{(x-1)(5x^2+4x+1)}{(x-1)(x+1)} > 0$$

$$\frac{5x^2+4x+1}{x+1} > 0$$

$$x+1 > 0$$

$$\underline{\underline{x > -1}}$$

Επορας Μαθημα

19

(7) α γ ε

(8) α β γ

(9) α γ.

(21)

(22)

(23)

20

(1) α

(2) α γ

(6) α β

(7) α δ

(9) α β

(10) α β

(17) β